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Part A (Short answer questions)

Answer all questions. Each question carries 3 marks.
Discuss Gandhiji's concept of Swaraj.
Discuss Gandhiji's concept of truth.
Discuss the reaction of British govt towards Kheda Sathygraha.
Discuss the attitude of mill owners towards Ahmedabad mill strike.
Discuss the early life of Gandhiji before his arrival to India.
Explain HSRA.
Discuss the background of Rowlett act.
Explain Attlee's Declaration.
Discuss Gandhiji's concept of Non cooperation.

Discuss the background of Champaran Sathygraha.

Part B (Paragraph questions/Problem)

Answer all questions. Each question carries 6 marks.
Interpret the result of Khilafat movement.

Evaluate the positive impact of Civil disobedience movement.

Describe the evolution and introduction of Gandhian ideologies.
Discuss poona pact and its significance.

Discuss Chauri-Chaura incident and its impact.
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16. Discuss the reaction of Indians toward the Jallianwala bagh incident.
17. Describe Montague-Chelmsford reforms act.

18. Discuss the formation of congress socialist party.

Part C (Essay questions)

Answer any one question. The question carries 10 marks.

19. Analyse Non cooperation movement.

20. Critically analyse the reaction of British govt to Quit India movement.
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